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	���%(0+%

RCL
% � 0+3�%

• 'I��% � 
�3�	�	�� ��� � 0������
% 1 4�� � 
�� �*'5'I� % � �+� � %@� 
��+'���3�%5
��
• '5�N��� 1 % 1 	�� ��� � 0+���
��% 1 4�� � 
�� �*'5'(�\�T% 1 0+� 1 %(	 9
• '5�N0=�*4<��0+%(	�� ��� � � � � �*'5��2��N�*'5'I����'@� 1 	�%50�%(	�98
��+'('5� 4<������	�%>
��+% ��� 1 %C?« � 4<�*�
	�%50���'@�*�
��� '(� �WTT3�� � %(� � % � ± ? ± # �l� ± ? ¬ # 1 � � �OV �*��67�*'56�� � 	�� %(
�� � 	�%(0 / � �*'('5�
�UTE3<� � %5� � %A
�%Q4��
��4<�*2D� � %5� � ��
�%Q3 � %(674�3�' 1 �)��'5��	
	��
%50+� '53 � 2�� 3 � �$'(% � �+� 
�%Q	���� 1 67% 1�°
1 %5� � ���<'(� 0+� 1 %5
�
���	�	��������	��
���
���������������������������
\���*'(%5
��\4����J3 � 0+�=����3 � %EV ���
67� X

−∂V

∂x
= R′i + L′

∂i

∂t

� ± ?3.D#

− ∂i

∂x
= G′V + C ′

∂V

∂t

� ± ?/0E#
�d�*�

V �
���*'(	 ��2�2�%5���

i �
0+���
��� � 	����

R′ �
�
� 1 % 1 	�� ��� � 4A�+�)3 � %(	 9 
�%B'53 � 2 / � ��� ���

L′ �% � 
�3�	�	 � ��� ��4�����3 � %(	�9 
�%X'53 � 2 / � ��� ���
C ′ �

0+�*4<�*0�%(	 � ��� � 4A�+��3 � %;	 9�
�%>'53 � 2 / � ��� ���
G′ �
0�� � 
�3�	
	 � ��� ��4���� 3 � %(	�9 
�%>'53 � 2 / � ��� ��?

 ��'5� � 
��k4<�*���*2�� � ����� '5� �WTE3<� � %(� � %�� ± ? ± #�� � ± ? ¬ # �*'5'(� �UTE3<� � %5� � %�� ± ?/.D#��m� ± ?/0E#
4�� 1
1 %5�*67�"! 	���� 1 V ���
6��*�
�#! TE3<� � 	�%(	 9 %(
����T
�% � �*67%(0 / �\% � TT3�� � 	�%(	�9 �+'5��	�	���%50 / �*?

���%$ & � 	������ � � ' � �����)(������ � � �	� � ����� � � � * � � �	� + � 	-,

�_�+� 'C� ���T%(
�� � 	�� 3 � %5
�%(��� � %5� � �*'5%;	 9 
��+' ��3 1�1 � % 6���
��+'5'(% ±j¨ 1 � � � 1 3���0�%5� � 	�% 4����
'@� ���*4�4���� 1 � � 	 � � %5� � �n
�%H	�����	
	�%�����'@��	�%(���*6�� � 	�� 1 �+6�4�'5%(0+%H
��+'5'I� ��'5�A�+��� 0�%5�
0+��'5��	����
%5�
��� � � � � 1 	 � � 	��N'@��'5���
��'5% � �=�*�
%(	 9 
�� 1 0���%(�*� � � % � 6��T
��������<� 1 	 � ��� ��
���	�	 ��2�'5%5��	���'5�
V ����6��B
 � � � 
<��� '@�H4��
��4<�*2D� � %5� � �B
�%D3 � %56�4�3�' 1 ��?>K_�*'5% 1 % 1 	���67%��G4A�+��.�� � � � 4�� 1�1 � � �
� 1�1 �+�
�J3 1 ��	�%�4���� '@�J���*4�4���� 1 � � 	�� � %(� � � 
�%T	�3�	
	�� 'C� �*'(�������\0�%5�
0+��'5��	����
%5���\0=��3 1 � 
���'5'@�
���*6�%(:<0+� � %(� � � 
���'5'5� �*� 	�����%5� � 4����R'@� ���*��%5� � %(� � � 
���'5'5� 4��
��4��
%5��	�9���'@� 1 	�%50 / �&
���%T��� 1 %C?
« 0+� 1 %5
�
���	�	�%0/1
������2�3�4�3��/65����$� �����*��%5�*��%5'(%�0�� � 0+� � 	����G	�� 1 � � � % � �*�+0��N% � 2�����
���
�%
���*4�4���� 1 � � 	 ����� 'C� % � 	������ �*'(������� 0�%5��0���'@�G	����
%5� 1 3�
�
�%(�T%5
�� � 
���'(� % � 3 � � 3�6��+�
��: � %(	��
�"� % � 2�� � �+�
� 4�%(0+0���'5�E#�
�% 0+��6�4<�*� 	�%(67� � 	�%\0�%@� 1 0+3 � �k
���% TT3��*'5% ���*4�4��
� 1 � � 	 � 3 �
4<�*�
	�%50���'@�*�
�$
�% 1 	�����	�	��7�*� 1 0+�*'@�*�
�8�+
 % � 0+%5� 1 0�3 � � 
��+%�TE3<��'5% 1 % � 1�1 3�67� � � 0+� 1 	 � � 	�%
%>4<�*����67��	���%�0=�*����	�	��+��% 1 	�%50+%I?
« 6���
���'5'(%�'(3�674A�+
 1 � � ��
���: � %(	�%X� � 0 / �)6���
���'5'(% ®w¨ 4A�+��0 / �$�*	
	�� � 3�	�%>
<��3 � 67� °

.




��+'('5� ±j¨ % � 	���2���� � 
�� '(� ���*�
%@�*��%('5% 1 3 3 � 1 �+2�6�� � 	�� 
�%_'(3 � 2 / � �+� �7: � %;	 ��� TT3�% � 
�%
1 � � � 6���
��+'5'(%X
�%54A� � 
�� � 	�% 
��*'5'5� 1 �*'@�7���*�
%@�*��%('5�)	���674A������'5���"'@�����*�
%@�*��%5'5� 1 4<� � %5�*'5�
1 0+�*674<�����)% � 1 ��2�3�%;	����*'5'I� % � 	��+2*��� � %5� � �=#�?
« '$4����T0+��
�%56�� � 	�� 
�%8'(3�674�% � 2�� V"�G	�	�� 4���� 3 � 4�%50�0+��'(�m	�����	
	��l
�%8�*�
	��+�
%@� 
�%

'53 � 2 / � ��� �
l
� 4�3 . � 1
1 �+�
� �*
<��	
	 ��	�� � ����2�%5� � % 4�%E4 �*�
	�%50���'@��	�� � �+
k� � 0 / � % � ��6�� °

2�� � ���-# 
��+'('C� �*'5�A�+�
�N0+%(��0���'@��	�����%(��?

����� & � 	������ � � +���� � � � + � � � ��� � ��� �

³ � �f
�� 1 0+��% � %(� � � 0+��6�4�'(��	 � 
���' 1 % 1 	���6�� 0=����
�%(�d��� 1 0+��'5�*��� 1 % 4�3 . �*	�	�� � ����� 0+� �a°
1 %5
��+��� � 
���3 � 6��T
��+'('5�N��4�%E4 0���6�4<�*�
	�%56�� � 	�%I?
« ' 0�3����
�������*4�4��
� 1 � � 	 ��	��n4A�+�)67� �+� �b
�%B
�3��70�� � 
�� ��1 �G	����
% ���*�
%@�*��%5'5% � ��' 	��+6�4A�
�"0 / � 1 %(6N3�'@� � � 'C� ��	�	�%(�T%(	�9 �*� � 	��
%50+�*'@�*�
�-# �)
<��
�3��)
�%5�T
�%�0 / �$�
%54��
��
�3�0+� � ��%('�0���6 °
4���� 	 �*6�� � 	���
��+'5'(�\���*'(�*��'5��?
« '>0+%5�
0+3�%;	�� 0 / � 1 %>�
%50+�-��� � TE3��+'('5� � ��'5'@�8:�2�3���� 0 / � 1 ��2�3��

!R%(2�3���� ± ? ± X ª ��
���'5'(� 
�%>3 � � ����	��)0 / %(3 1 ��4�����'C� % � 	������ 1 % 1 	��+67��0+�*��
�%5�-��� 1 0���'@�*�
�

0



« ' 1 % 1 	��+67�N��� 1 0���'@�*�
� � 1 3�
�
�%(�T% 1 �7% � 1 �+% 1 � � %(� � %�X
• 0�%5��0���'@� � %5� � � �*� 	�����%5� 1 � 1 % 1 	���67%(0=�,X R1C1

�
R2L1C2

• 6�%50����T0+%5�
0+��'5� � %(� � � 1 % 1 	��+6�%50=�AX R3

• 0�%5��0���'@� � %5� � ���*� � � 1 � 1 % 1 	��+6�%50+�,X L2C3R4

• 6�%50����T0+%5�
0+��'5� � %(� � ��4A��'56�� � �*�
� X R7

• 0�%5��0���'@� � %5� � � �*� 	�����%5� 1 � 4��*'56�� � �*�
� X R3L2C3

�
L4R7

• 0�%5��0���'@� � %5� � ���*� � � 1 �74A��'56�� � ����� X L4C6R8« � ��'(	����
X1, X3, X5, X7, X9, X11 �

4���� 1�1 %(� � � �*'('5� � 1 	��
�+6�%(	�9�
��+% ���*��%�0+��6�4<�*� 	�%56�� � 	�%
X2, X4, X8, X10 �

�<3 1�1 % � ��% ���*��% 
�% 1 	�����	�	�%
X6, X12 �

���*�
%@� � %5� � �J
�%A����'(3�67��
��+'���� � 	���%50���'5�8
�� 1 	������ 1 % � % 1 	����N�
% 1 4A��	
	�� ��
 3 �
����'(3�67� 
�%>��%EV ����%(67� � 	��

V0

LV, RV �
4���� 1�1 %5� � %

²X�
Si (1 ≤ i ≤ 4)

1 � � ��2�'(% 1 	���	�%X
���'5'5� ���*';����'(� X ����4�4���� 1 � � 	�� � � '(� 1 	 �G	���
��+%F
�3��

�%5�T
�% 0 / � 1 %(6N3�'5� � �N'(� �*��'(���*'5� 0=����
�%5�*0 / � � 1 � � �70�� 1�� 
���: � %;	��

Si =











0 se zi ≤ 0

1 se zi > 0

� ± ? 2�#

�"�-���J'5�
zi

V ��� � % 1 0+� � � '5� 0=�*
�3�	 � 
�%<4��
� 1
1 %5� � � � �+%����*6�%�0+� � 	�� � � � 	�%Q'5� ���*';����'(�-#�?�²>�
�*����%@����%5'(%

zi

�"0�� �
i = 1, ..., 4

# 1 � � � 
���: � %(	��8% � �*0+0�����
�� 0+� � %_
<�G	�% 1 4�����%(67� � 	��*'5%
� ����
�%>	�� 1 % # ?
²>� �WTT3�� � %(� � %N
�% D������ ��� %5�*'5%)0 / � 
�� 1 0���%(�*� � � 	 �*'(�Z6���
��+'5'(� � ���*4�4���� 1 � � 	�� � 	��

'C� � � �*'(��2�� �+'(��	
	���%(0+� 
���' 1 % 1 	���6�� 0+%(��0���'@��	�����%(�E#F��0 / � 1 %Q�*	
	�� � 2�� � �)	����*6�%(	�� '5� '5��2�2�%

�% � %5��0 / � D �*4�4�'5%50+��	�� �*'>0+%(��0+3�%(	�� 0�� ��1 %5
�������	�� 1 � � ��'5� 1 �+2�3�� � 	�% X

2



C1
dX1

dt
= S1 ·

z1

Rl + R1

− X2 L1
dX2

dt
= X1 − R2X2 − X3

C2
dX3

dt
= X2 − X4 L2

dX4

dt
= X3 − R3X4 − X5

C3
dX5

dt
= X4 − S2 ·

z2

R4

dX6

dt
= S2 ·

z2

R4
− S3 ·

z3

Rr + R5

C4
dX7

dt
= S3 ·

z3

Rr + R5

− X8 L3
dX8

dt
= X7 − R6X8 − X9

C5
dX9

dt
= X8 − X10 L4

dX10

dt
= X9 − R7X10 − X11

C6
dX11

dt
= X10 − S4 ·

z4

R8

dX12

dt
= S4 ·

z4

R8
− S1 ·

z1

R1 + Rl

� ± ? S #

« � �*'(	��
� '@�N4��
� 1
1 %5� � � ��� � 	���%50���'@�����)� 
<��	���
<�

PV =

{

U(t) + E(t) · (V − V0) + RV̇ (sistole)

Ed · (V − V0) (diastole)

� ± ? . #
�d�*� V0 �

����'(3�67� 
�% ��% V �+��%(67� � 	�� % � 	���� � ���*' TT3��*'5� 1 %>�WD���	�	�3<��'@�N'5% � �=����% ��� � � %5� � ���
V � ����'(3�67�J
���'A�*� � 	��
%50+�*'5��� V̇ � 
�����%(����	�� 	��+6�4������*'5��
�% V �

U(t) �
4���� 1�1 %(� � ��% 1 � °

����'(3�67%(0=� 1 3�'B����'(3�67�
V0

�
E(t) �

�+'5� 1 	�� ��� � 
���' ��� � 	���%50���'5� � % � ����� 1 � 
���'5'@� 0���6 °
4�'5%5� � 0+�

� dV/dP
#��

R �
�
� 1 % 1 	�� ��� � 0 / �J����4�4���� 1 � � 	�� '5�\�T% 1 0�� 1 %;	 9 
���'5'5� 4<�*����	�%<
���'

67%(��0+�*��
�%(��?

S



� N Y L�O�E\J&E �

� O�VTFTL&E N^UTN^JKL�O�LKQRE Y H�X LKJ M EGFIH�JKJ&E
FTL�� H'X�H�U��[LKN^J&H

� ��� � � �����
	 ��
���� ���

« � TE3�� 1 	���0+�*4�%;	���'(� 1 	�3�
�%(�+�
�+6�� %5' 1 % 1 	���6��8
�%ED��+��� ��� %5�*'5�J���

�% � ����%5� V ����67��	��8
<�*'('5�

���
�%50+%��UTE3<� � %5� � %��*	�	�� � 3�	�� � �+'�0+�*4�%;	���'(�\4��
�+0+��
�� � 	��J
��*'�4�3 � 	�� 
�%��T% 1 	 � � � ��'5%(	�%50����
� 67��2�'5%(� � � � 0+% 4��
��4A� � %@��67� 
�%8V"����� 3 � � � � �*'5% 1 %Q	��+�*��%50+�8
���' 1 % 1 	��+67����67� 1 �*'5�N
�%
�-�*�+�
�\% � V ����67� � %(� � %
TE3<�*'5%;	 ��	�%(�*� 1 3�%Q6���	��T
�%<��4�4�'5%(0=�*��%5'5%T4A�+� '@� ��% 1 ��'(3 � %(� � � 
�%�	��*'5�
1 % 1 	���6���?

� ��� � ����� ��� � 	��
	 ����� ��
������ � � � 	�� � � ��� �

²X� 
���
�%(0+% �UTE3<� � %5� � %H
�%ED��+�
� ��� %@�*'(%�� ± ? S #$�*	
	�� � 3�	�� � ��'H0=�*4�%(	��*'5�n4����+0��+
�� � 	��HV ��� °
6�� � ��3 �b1 % 1 	��+67� 
�%ED��+�
� ��� %@�*'(� 0 / �)4�3 .�� 1
1 �+�
� 1 0+�
%(	�	�� � �+'('@�KV ���
6��

{

Ẋ = A(X, t)X + d(t)

X(0) = X0 (dato iniziale)

� ¬ ? ± #

.



�d�*�
d
�)%5' 1 �+2�3�� � 	��)����	�	��*��� 0+��'(� ��� �N
���% 	�����6�% � % � �*	�%�X

d =



































































S1 ·
Us

C1(R1 + Rl)

0

0

0

S2 ·
Ud

R4C3

−S2 ·
Ud

R4
− S3 ·

Ud

Rr + R5

S3 ·
Ud

(Rr + R5)C4

0

0

0

S4 ·
Us

R8C6

−S4 ·
Us

R8

− S1 ·
Us

Rl + R1



































































�+

A ∈ M12,12(R)

�)'@� 1 ��2�3�� � 	��867��	��
%50��

A =



















































a1,1
−1
C1

0 0 0 0 0 0 0 0 0 a1,12

1
L1

−R2

L1

−1
L1

0 0 0 0 0 0 0 0 0

0 1
C2

0 −1
C2

0 0 0 0 0 0 0 0

0 0 1
L2

−R3

L2

−1
L2

0 0 0 0 0 0 0

0 0 0 1
C3

a5,5 a5,6 0 0 0 0 0 0

0 0 0 0 a6,5 a6,6 a6,7 0 0 0 0 0

0 0 0 0 0 a7,6 a7,7
−1
C4

0 0 0 0

0 0 0 0 0 0 1
L3

−R6

L3

−1
L3

0 0 0

0 0 0 0 0 0 0 1
C5

0 −1
C5

0 0

0 0 0 0 0 0 0 0 1
L4

−R7

L4

−1
L4

0

0 0 0 0 0 0 0 0 0 1
C6

a11,11 a11,12

a12,1 0 0 0 0 0 0 0 0 0 a12,11 a12,12



















































�d�*�\%<0������70�%5� � 	�%Q
�%
ai,j

1 � � � % � V 3 ��� %5� � �J
��+%Q4<�*���*67��	��
%<
�%Q0+%5�
0+3�%;	��
R
�
L
�

C
�+


% � V 3 ��� %5� � � 
��+2�'(% 1 	 ��	�% 
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